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Q1]...[10 points] Find the absolute maximum and absolute minimum values of the function
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on the interval [—2,4].
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Q2]...[10 points] Find the minimum distance from the point (3,1) to the graph of the function
y = 2 + 1. What are the coordinates of the point on the graph where this minimum distance is
achieved?
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Q3]. .. [20 points] Consider the function
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f@) = oo
Compute f'(z).
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Find the intervals where f(z) is increasing, and the intervals where f(z) is decreasing. Identify (com-
pute) any local maxima and local minima.

— R —
Cahied 05 , flx)=o -  Only Wuw numecalor =0, x5 4 =9
=4

X = L

’EnM¢\S é’%""—*) C—l/ ’2) } (l_, °0>

Compute f"(z).
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Find the intervals where f(z) is concave up, and the intervals where f(z) is concave down. Identify
(compute) any inflection points.
wive-xtJ = ©

{‘((X} =0 | Oﬂ\':) whan  Aumer o¥or = © o) K= r@
Tfster\fo,\s (‘“’ i (\3__'> (’ "t O> CD y ﬁﬂ 5 (\ﬁ{,) D°>
o~

2%&(\1—)&") v | @ @
© =

QC(X\ AN | l ccd




Q3 continued...

Determine the behavior of f(z) as = tends to oo and to —oco. Are there any asymptotes?
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Determine any z- and y-intercepts that f(z) has.
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Draw the graph of f(z), indicating all the information above (intercepts, max/min, inflection points,
asymptotes) on the graph.
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Q4]...[10 points] A lamp is located at the point (3,0) in the zy-plane. An ant is crawling along
in the first quadrant of the ry-plane, and the lamp casts its shadow onto the y-axis. How fast is the
ant’s shadow moving along the y-axis when the ant is at the point (1,2), and is moving so that its
z-coordinate is increasing at a rate of 1/3 units/second and its y-coordinate is decreasing at a rate of
1/4 units/second?
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